49. Gerry the Gent likes to look good. He has 150
bowties and wears 4 bowties a day. He has 5
drawers in his new bowtie chest. He wants to
arrange the bowties evenly in the chest. How
many bowties should go in each drawer?

bowties should go in each drawer.
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50. 620 passengers are flying to Kalamazoo on Albatross Airlines. Albatross

has 4 planes going there and wants to make sure each plane has the same
number of passengers. How many passengers should get on each plane?

passengers should get on each plane.
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51. Nereida Noitall won first place in the Turnip and Rutabaga Trivia Contest.

She won $1,000! However, she has to split it evenly with her 7 coaches.
How much money should Nereida and each of the 7 coaches get?

Nereida and her 7 coaches should each get $
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52. Michaela the Mechanic received 4,200 parts.
She was assembling 6 new turbo-charged
Kiddie Kars. Each car requires the same
number of parts. How many parts does

Michaela need for each car?

Michaela needs parts for each car.
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